Decimals Addition

Work out the calculations.

a) £345  b)
+ £592

e) £5.01 f)
_+£742

i) 201m )
+ 4 6Tm

1) £495 + £2.78 =

£8.45

+ £4 21

£6.42

1.67m

+6.19m

2) £5.11 + £9.45 =

3) £4.21 + £8.47 =

4) £641 + £2.21 =

1. Ispent £743 in one shop and then spent £2.50 in another shop.

How much did I spend altogether?

c) £4 11
+ £6.47

qg) 6.55m
+ 8256m

R) 1.44m
+6.77m

5) £1.24 + £3.11 =

6) £5.32 + £6 41 =

7) £6.14 + £1.48 =

8) £8.65 + £154 =

d)

h)

)

£4 21

+ £1.54

1.44m

954m
+ 7.11m
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2. Jasmine had 1.35m of ribbon and her sister had 4.78m.
How much ribbon did they have altogether?

3. Jacob is measuring his bedroom. It is an odd shape. The lengths of the walls
are 5.4m, 4.3m, 7.3m and 79m. What is the total perimeter of his room?
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